==
N = 0 & AF S 99 N A
2AM: 33253
Ha: BREAS JIE HE(2A/2AAR)
chelr ZZOARIIG £4 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
2290 2 68,745,580 52,733,269 16,012,311
= 20,491,497
g 2,986,000
Jl 13,674,153
= 31,593,930
2282492 J|jet st x(BH/BAH92) 46,214,600 30,917,110 15,297,490
= 18,045,200
Jl 3,400,000
& 24,769,400
229 20|88t &4 7,620,400 510,000 7,110,400
= 160,200
J| 3,400,000
o= 4,060,200
SSEAHoS I BBEAHY=ZAE K& 60,000 60,000 0]
308 MXISHMSOIA 60,000 60,000 0
10 B 2SN USHAE AN E A 60,000 60,000 0
O=ZSUHMHEE QLEIJASI 2A2HMAH 2= 60,000
gHo=z=X SEXNISMAH 25 125,000 125,000 0
308 XX SHAHSOIH 125,000 125,000 0
01 AIXSHMENEXZ 125,000 125,000 0
orHoA==2X SSXNIAAH 2= 125,000
229 =02 A o U= 15,000 15,000 0
201 LBt Y| 15,000 15,000 0
01 AP 22| d| 15,000 15,000 0
0339272 =Y Y DS 15,000
222HoS X 29 300,000 300,000 0
307 gizto| A 300,000 300,000 0
05 QIZtRES 300,000 300,000 0
oOB32Hgz NI 24 300,000
N HEES B24 LS (2BEHAZ XIS 2H) 300,000 0 300,000
(27)
= 150,000
& 150,000
307 2iz2to| A 300,000 0 300,000
= 150,000
== 150,000
05 QIZ2tR E 2 300,000 0 300,000
oOBs32Hgz N3 24 300,000
= 150,000
= 150,000
2ZTEAHESIHE 2 (=21) 20,400 0 20,400
= 10,200
o=} 10,200




2N SZ222A2H
Ha: BREAS JIE HE(2A/2AAR)
el BBORIIG X4 CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
301 LEHZ 20,400 0 20,400
= 10,200
< 10,200
02 ¥et=stit= 20,400 0 20,400
OZS2HESHNE 23 20,400
= 10,200
< 10,200
SN0 HEdSHE HE(21) 6,800,000 0 6,800,000
J| 3,400,000
< 3,400,000
401 Al HIZ 201 8] 6,100,000 0 6,100,000
J| 3,050,000
< 3,050,000
01 A& HI 5,995,900 0 5,995,900
S22 HEYH AHE 5,995,900
J| 2,997,950
< 2,997,950
02 Zeltl 88,100 0 88,100
OZ3S0E oMz dy 2 88,100
J| 44,050
< 44,050
03 A& =2 I 16,000 0 16,000
O330E0l ez dEH HE 16,000
Jl| 8,000
= 8,000
402 QI2H X201 M 700,000 0 700,000
J| 350,000
< 350,000
02 QIZI 2 A EZ (OIS ) 700,000 0 700,000
O33eolMezHdyH oz & X 700,000
J| 350,000
< 350,000
=322z 0|& 2 38,594,200 30,407,110 8,187,090
= 17,885,000
< 20,709,200
Agegd e =& 2,159,800 2,161,000 A1,200
201 Zet24E] 29,000 29,000 0
01 At 22l 29,000 29,000 0
O2A=JFANE =423 §8 23 29,000
202 (4l 12,000 12,000 0
01 SLHOIYI 12,000 12,000 0
OoXgodzd ML =& 12,000
306 ¢ 2 2,000,000 2,000,000 0
01 &3 2,000,000 2,000,000 0




SN BBAED
Ha: BREAS JIE HE(2A/2AAR)
Sl BBARIIT SYX CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OXSIHLII=ss8i &&= XN 2,000,000
307 21201 A 118,800 120,000 A 1,200
02 YAFAANHEX 118,800 120,000 A1,200
OFUE2US A 25F=2 NE 118,800
HEAZE O|MA=E At Y 229,400 200,000 29,400
401 AIEHI L 2] 229,400 200,000 29,400
01 A& tl 229,400 200,000 29,400
O&HOAZE OIHAE A 229,400
X042 A0 M2Ds BH 80,000 80,000 0
308 A EHHSOIA 80,000 80,000 0
01 HIXNHHNBMNELS 80,000 80,000 0
Ox=x=ogd A0 d=Jls B 80,000
ANgoz2d Jis22AMg(=21) 33,380,000 26,904,000 6,476,000
= 16,690,000
< 16,690,000
402 RIZER201 A 33,380,000 26,904,000 6,476,000
= 16,690,000
< 16,690,000
02 U2 T EALEZ(0IETHR) 33,380,000 26,904,000 6,476,000
oXNgozd JIsEH 18,090,000
= 9,045,000
< 9,045,000
OFF2AZd HESE= AY 15,290,000
= 7,645,000
< 7,645,000
ANgozd HAIEBALAE MRIs HE 2 DEF 190,000 185,620 4,380
(22)
= 95,000
< 95,000
402 RI2EXt20l 190,000 185,620 4,380
= 95,000
< 95,000
01 212t 2 AL E = (REM ) 190,000 185,620 4,380
OXNE2AZd HIAZBAAE 2SAY 190,000
= 95,000
< 95,000
ANgolg@d oA 2zl oyl X (21) 2,200,000 0 2,200,000
= 1,100,000
< 1,100,000
307 glz2tol & 2,200,000 0 2,200,000
= 1,100,000
< 1,100,000
02 M AHEE 2,200,000 0 2,200,000




2A: 2222
Hu: ZTEACID JY HE(2A/RAAR)
Sl BBARIIT SYX CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
(OPNERI=R T oz ola oAl K& 2,200,000
= 1,100,000
= 1,100,000
2EO = SALYA 2HIA 204,000 204,000 0
307 212t01 & 204,000 204,000 0
02 Q2B AMAIE E =X 204,000 204,000 0
OLEdsd sLAZIYN 2N 204,000
S8 ESAA 25 oA S N 21,000 0 21,000
308 MXISHMSOIA 21,000 0 21,000
01 IIXHAHIMNEEXTZ 21,000 0 21,000
os8=&X =3HH 25 oHH & XA 21,000
o2& 20t X 3AL 30,000 0 30,000
308 XAHXIEHSOIA 30,000 0 30,000
01 AIXSHMEMNEX= 30,000 0 30,000
Oz & F2t XJALE 30,000
o7& IS XIAY 100,000 0 100,000
307 2iz2to| & 100,000 0 100,000
02 QIZ2IAAAIE E X 100,000 0 100,000
OdE9=R "WIels X 100,000
O2FAUX L FAAHS ozt A (EH/BEHAZ 11,458,964 11,581,790 N 122,826
= 1,930,497
J| 6,284,463
=} 3,244,004
ol F X XN 7,485,156 6,958,542 526,614
= 1,900,497
J| 4,084,706
& 1,499,953
S0bF X KA (Q1AHH)(=21D) 1,800,000 1,920,000 A 120,000
= 1,200,000
& 600,000
308 XXIGHH SO0l & 1,800,000 1,920,000 A 120,000
= 1,200,000
& 600,000
01 IXHHIMNEXS 1,800,000 1,920,000 A 120,000
ZO0FF X XIJAFY Q124 H| 1,800,000
= 1,200,000
== 600,000
O2F A XA (AOIAEAED QIAH)(Z1) 375,000 400,000 A 25,000
= 250,000
o= 125,000
308 AHXI IS0l & 375,000 400,000 A 25,000
= 250,000




N B3
Hu: oRHOUK Y FHUHE ABOHY ASH(PA/PAR)
el OB oK X & (cHel ® Q)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
== 125,000
01 IXNHHBNEES 375,000 400,000 A 25,000
Oz FHAX XA ol AH| 375,000
=2 250,000
< 125,000
OFMGH S 4k QT et RS 50,000 50,000 0
308 XXIEHSO0IA 50,000 50,000 0
01 AXNSHHEBANEES 50,000 50,000 0
OLNRAY Lut OHMEH S XA 50,000
S HAX zetdY XA 200,000 200,000 0
308 XXM SOI A 200,000 200,000 0
01 AXSHBLELS 200,000 200,000 0
oOz&ia 249 & 200,000
FAXS s3oz4dEH XNA(21) 467,500 495,000 A 27,500
| 467,500
307 glz2tol & 467,500 495,000 A 27,500
| 467,500
02 LIt HAMHEE 467,500 495,000 A 27,500
OFAX S=22=8dH 2EXE 467,500
J| 467,500
FAX AAEE UWERZD 2H(21) 91,310 74,980 16,330
| 91,310
307 21201 A 91,310 74,980 16,330
| 91,310
02 YAFHAANFEE 91,310 74,980 16,330
OFHAUX FEAN UHERKIA 2= 91,310
| 91,310
FAXE 329920 NA(=21) 2,733,744 2,706,429 27,315
J| 2,733,744
308 XtXIEHHSOIA 2,733,744 2,706,429 27,315
| 2,733,744
01 AXSHBLELS 2,733,744 2,706,429 27,315
OFHAX S8=d=01& 2 X 2,733,744
| 2,733,744
S22 DEFANY N (dagzI1& NA) (= 240,000 176,470 63,530
2)
| 240,000
308 XXX SO0IA 240,000 176,470 63,530
| 240,000
01 AXNHHEBANEES 240,000 176,470 63,530
ogxozola X& 240,000
| 240,000




SN BBAED
Hu: OEFOK U HUHS ASHHY L 2)
ol =2 FAX KA (cho &)
SAH-EB .S (3A) - NBAY - B ﬁlf& HDS2
2292 DEFHAXHE XA (2HtS0S 162,152 162,152 0
Dl 162,152

307 QI2t0| & 162,152 162,152 0
J| 162,152

02 At AMAEE X 162,152 162,152 0
Ooz2ts0olxd A 162,152
Dl 162,152

BAHOZ 2 ICTEE X M (XXM XNR)(=21) 26,708 83,511 A56,803
= 26,708

308 AXISHAMSOIHA 26,708 83,511 AN56,803
= 26,708

01 HXHHNBIMNEXS 26,708 83,511 A 56,803
OX XA X& 26,708
= 26,708

BAHOZI|& ICT 22 & A (2 Sy 93,000 90,000 3,000

2)(=1)

= 46,500
== 46,500

307 QI2t0| & 93,000 90,000 3,000
= 46,500
< 46,500

02 Q2B AMAIEE =X 93,000 90,000 3,000
OZJA=MEEA X 93,000
= 46,500
o= 46,500

Y M2 U XJAMNE(21D) 450,000 450,000 0
Dl 300,000
& 150,000

308 AKX SHHSO0IA 450,000 450,000 0]
Dl 300,000
& 150,000

01 AIXHMBANEXZ 450,000 450,000 0
O1N/E &2 FFE XNA 450,000
Dl 300,000
& 150,000

ZoAHI D2HHAIG X (LR 5 90,000 100,000 A 10,000

(= 2)

Jl 45,000
& 45,000

307 QI2t01 ™ 90,000 100,000 A 10,000
Dl 45,000
& 45,000

02 DI2tF AAH E X 90,000 100,000 A 10,000
OYRTAS2YH 90,000
Dl 45,000




2N SZ222A2H
HE: oRHUK Y HUHS ADNHY YSH(PA/BAR)
ol =2 FAX KA (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 45,000
SEHYYHA SSEAMNINA(EIANAEZHA) 45,000 50,000 A5,000
(212)
J| 45,000
308 XXIEHH SO0l A 45,000 50,000 A5,000
J| 45,000
01 IXNSHHBANEES 45,000 50,000 A5,000
OFEFAEZERA 45,000
J| 45,000
NAFHMHEHOZHEH 2D (MEAY 21AH4H) (21 140,754 0 140,754
)
= 117,295
< 23,459
308 XXM SOl A 140,754 0 140,754
= 117,295
< 23,459
01 IXNHHBENEES 140,754 0 140,754
O2dA XNAASSHTHEARY 1A 140,754
= 117,295
< 23,459
NEZHAEHAZHEH 2L (NGFHHABAdEH 519,988 0 519,988
B =2)(22)
= 259,994
< 259,994
307 glz2+ol & 519,988 0 519,988
= 259,994
< 259,994
02 IZtE M AMHEE 519,988 0 519,988
OXGROHALAARME 29 519,988
= 259,994
< 259,994
JZHAAHNE N 3,973,808 4,623,248 A 649,440
= 30,000
J| 2,199,757
= 1,744,051
eI 2ASH Y Morgae XF (LA 2A=Hl)( 900,972 1,405,094 A 504,122
=1)
J| 750,810
< 150,162
308 XX EHSOIA 900,972 1,405,094 A504,122
Jl 750,810
< 150,162
01 HIXNHHBNEES 900,972 1,405,094 A504,122
O e 2=l 900,972
J| 750,810
< 150,162




2A: 2222
HE: oRHUK Y HUHS ADNHY YSH(PA/BAR)
Sl 2HAHE N CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
oSt X ol2H| & Motz X (Morestxt 22l) 41,304 41,304 0
(=D)
J| 41,304
308 ANXISHHMSOIA 41,304 41,304 0
J| 41,304
01 IXHHIMNEXS 41,304 41,304 0
OMII2E X 22| 41,304
J| 41,304
2otz NXAA KN (LUEX SSAXMME X 200,000 200,000 0
J(=27)
J| 100,000
& 100,000
307 gizto| A 200,000 200,000 0
J| 100,000
& 100,000
02 QI2tA AALEY 200,000 200,000 0
OLMEX S XNAHEH XS 200,000
Jl 100,000
== 100,000
2ottt AN AR (L2XH ANY)(=21D) 1,447,972 1,618,210 A 170,238
J| 1,206,643
o= 241,329
308 XHXI IS0l ™ 1,447,972 1,618,210 A 170,238
J| 1,206,643
o=} 241,329
01 AIXSHMENMNEXZ 1,447,972 1,618,210 N 170,238
oOdAH&H X 1,447,972
J| 1,206,643
& 241,329
22| XA NRF(KNGSHEH X)) (=22) 202,000 180,000 22,000
J| 101,000
= 101,000
307 2Iz2to| & 202,000 180,000 22,000
J| 101,000
= 101,000
02 QIZHA AAIE E X 202,000 180,000 22,000
OXHAHE XS 202,000
J| 101,000
= 101,000
QZR2ZX E QA AI(21) 43,000 40,000 3,000
= 30,000
& 13,000
307 QI2t0| ™ 43,000 40,000 3,000
= 30,000
& 13,000

oo



2322
JZHUK U HANS ARNHY L (BA/BAAR)
EEDSERE )
= _ — d =
SN FE - EA(SA) - MRAY - BES e 2
01 22272l 43,000 40,000 3,000
OA=QA2Z2XN & AS XA 43,000
= 30,000
< 13,000
MORIH & X =28l K& 400,000 400,000 0
308 XXM SOIA 400,000 400,000 0
01 AXHHBLEES 400,000 400,000 0
OMIINE % 2ASS X 2=H| 400,000
sk gle 84 29 707,360 727,440 220,080
308 XX EHHSOIA 707,360 727,440 220,080
01 HXNHHBHELS 707,360 727,440 A20,080
OLEs gl da2d & 707,360
1018 g4st 11,200 11,200 0
307 gl2tol & 11,200 11,200 0
02 IZHE M AHE L 11,200 11,200 0
OFIIJIs 82 ¥ &E 11,200
AMEHPOZOIEN SEII2 28 & 20,000 0 20,000
307 glz2+ol & 20,000 0 20,000
02 IZtE M AMHEE 20,000 0 20,000
OAEHHoAZ N SEIZ 2L N2 20,000
=20 g2AMHlA EE(BAH/BHAR) 4,371,872 4,394,403 A 22,531
J| 3,158,990
< 1,212,882
S=92 e &5 4,043,400 4,026,563 16,837
J| 2,970,700
< 1,072,700
SSASNAHMH 298I (=21) 195,400 150,800 44,600
J| 97,700
< 97,700
307 glz2+ol & 195,400 150,800 44,600
J| 97,700
< 97,700
02 QB HAANGEEE 195,400 150,800 44,600
o222 Xddy 23 195,400
J| 97,700
= 97,700
SS2AZ0SHA KNI (21) 3,100,000 3,100,000 0
J| 2,170,000
< 930,000
307 21201 A 3,100,000 3,100,000 0
J| 2,170,000
< 930,000




2N SZ222A2H
M 320 ASHUA SF(BH/BH9Z)
el 82992 oZe &5 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 It M AHE L 3,100,000 3,100,000 0
OJIE 28292 LI 29 3,100,000
J| 2,170,000
< 930,000
AHAME S SSHI WEHXS(21) 90,000 67,466 22,534
J| 45,000
< 45,000
307 21201 A 90,000 67,466 22,534
J| 45,000
< 45,000
02 LAFAAFEX 90,000 0 90,000
OtHAM=E 5 SSXMX WEH XA 90,000
J| 45,000
S 45,000
SSASI& o2 o e Ex3(=2) 635,000 648,955 A 13,955
J| 635,000
307 21201 A 635,000 648,955 A 13,955
J| 635,000
02 IS AHE L 635,000 648,955 A 13,955
OHIFHARX 2222012 24X A 635,000
J| 635,000
ASHBEAI B3 N (=21) 23,000 29,342 NG, 342
J| 23,000
403 XSS =0l & 23,000 29,342 NG, 342
Jl| 23,000
01 XM A=2E X 23,000 29,342 NB,342
onsaEEAI B2 XA 23,000
J| 23,000
Helg MAR= 328,472 367,840 A 39,368
J| 188,290
< 140,182
A Moz X 16,800 16,800 0
202 oddl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
oOMHESs2= AHHFA 9,000
307 21201 A 7,800 7,800 0
02 It S AHE L 7,800 7,800 0
OMHoAZ XX 23 7,800
AEUSE 2SN (=21) 25,200 25,200 0
J| 25,200
308 A EHHSOIA 25,200 25,200 0
J| 25,200
01 HIXNHMBNEES 25,200 25,200 0




2N SZ222A2H
M 320 ASHUA SF(BH/BH9Z)
S Mtz HAHR= (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OXSE MHIH=E=SA=E 2SN 25,200
J| 25,200
HeHNEga 2 (32) 187,200 189,800 A 2,600
J| 93,600
< 93,600
307 glz2tol & 187,200 189,800 A 2,600
J| 93,600
< 93,600
02 HAFHAANSEEE 187,200 189,800 A 2,600
oddd Mtz dgod Xl 2 XA 187,200
J| 93,600
< 93,600
Moz 2dsSAd 2H(=21) 99,272 136,040 A 36,768
J| 69,490
< 29,782
307 21201 A 99,272 136,040 A 36,768
J| 69,490
= 29,782
02 IZtE S AHE L 99,272 136,040 A 36,768
oML 2228 RHSAL 2AHI 99,272
J| 69,490
< 29,782
H=2 2AEA AUlA Ma3(BA/82242%) 6,255,100 5,383,582 871,518
= 515,800
s 2,986,000
J| 830,700
< 1,922,600
SAEAXA 6,255,100 5,383,582 871,518
= 515,800
s 2,986,000
J| 830,700
< 1,922,600
ROtt= dHReln 249 123,000 123,000 0
308 AHXIEHHSOIA 123,000 123,000 0
01 HIXNHHNBMNELS 123,000 123,000 0
OS2 FH AR L2l =3|AZ 123,000
e Az N3 825,000 825,000 0
308 XXM SO A 825,000 825,000 0
01 IXNHHBNEES 825,000 825,000 0
o4tz AZzel X& 825,000
A2 Ao A2 2e 2elREZa & 463,000 463,000 0
308 XX EHHSOIA 463,000 463,000 0
01 AXHHILEES 463,000 463,000 0




2N SZ222A2H
I e SNEA MHIA MS(2A/2A298)
e SUEAXL (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&2 sldot H22e 2Rg=a N2 463,000
AFDAIMO A2 22X (=) 3,228,300 2,717,222 511,078
s 2,986,000
< 242,300
308 XXM SOIA 3,228,300 2,717,222 511,078
s 2,986,000
< 242,300
01 IXNHHBANEES 3,228,300 2,717,222 511,078
oAl AZ2el X& 3,228,300
s 2,986,000
< 242,300
HA 22 Al=Hl X (21) 549,840 38,760 511,080
J| 458,200
< 91,640
308 XtXI &t H S0 & 549,840 38,760 511,080
p] 458,200
< 91,640
01 HXNHHBHELS 549,840 38,760 511,080
od=E=s XA 549,840
J| 458,200
< 91,640
PRUEBAANY BxoEH (20) 24,360 24,360 0
J| 20,300
= 4,060
308 XX EHHSOIA 24,360 24,360 0
J| 20,300
= 4,060
01 HIXNHHBNEES 24,360 24,360 0
OZXNEAHAIY B=xolaEy| 24,360
J| 20,300
< 4,060
HEQUBASH(=1) 6,240 6,240 0
J| 5,200
< 1,040
308 XX EHHSOIA 6,240 6,240 0
J| 5,200
< 1,040
01 AXHHBILEES 6,240 6,240 0
OEEZXNEH=E HH 6,240
J| 5,200
< 1,040
HAuaR o2y NA(2D) 14,400 12,240 2,160
J| 12,000
< 2,400
308 AHAIEHHSOIA 14,400 12,240 2,160




2AM: 33253
HM: =2 IUEAH AMHA H2(BA/2AH22)
ol QTR AN (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 12,000
= 2,400
01 AIKISHEMNEXZ 14,400 12,240 2,160
OFAEAD o= H| XA 14,400
Jl 12,000
& 2,400
DNASAAZO2H| XK (=21D) 118,800 145,200 A 26,400
J| 99,000
=} 19,800
308 MXISHMSOIA 118,800 145,200 A 26,400
J| 99,000
=} 19,800
01 IXHHIMNEEXTZ 118,800 145,200 N 26,400
OIS LAE o2 HIXH 118,800
J| 99,000
& 19,800
Ol=0t 2 AFAH0IAO0 O2H| NI (=21D) 140,400 207,600 N67,200
J| 117,000
= 23,400
308 AXIEHSOIA 140,400 207,600 N67,200
J| 117,000
= 23,400
01 AIXSHMENMNEX= 140,400 207,600 NB67,200
O0l=0F & S H0IA0F 2=2HI K& 140,400
J| 117,000
= 23,400
HESAOI A A A & Sot2e(=21) 108,000 91,200 16,800
J| 90,000
& 18,000
308 XAXIGHHM SO0l & 108,000 91,200 16,800
J| 90,000
& 18,000
01 HXHHBIMNEXS 108,000 91,200 16,800
OEE S HAIO A EAF & B0t 22| 108,000
J| 90,000
== 18,000
AAMOF HEXI|XS(=2D) 34,800 58,800 A 24,000
Jl 29,000
o= 5,800
308 XX SHHSOIH 34,800 58,800 A 24,000
J| 29,000
o= 5,800
01 AIXSHMENEXZ 34,800 58,800 A 24,000
O MO A ERD|A S 34,800
J| 29,000
& 5,800




2AN: 2921
HM: =2 IUEAH AMHA H2(BA/2AH22)
ool QUBAX CER-ED
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
JASZ JINAH ZHER N2 (=2D) 618,960 664,800 N 45,840
= 515,800
& 103, 160
308 XAHXIEHSOIA 618,960 664,800 N 45,840
= 515,800
= 103, 160
01 AIXSHMENMNEX= 618,960 664,800 N 45,840
OMASE JIMNAH & ZHES A 618,960
= 515,800
=} 103, 160
HEMSHAY (2222 W)(IJIEH/DIE 32,044 32,884 A 840
JlE&dl 32,044 32,884 A 840
A9 2234l 32,044 32,884 A 840
201 LBt ]| 21,484 21,484 0
01 AP 22| H| 21,484 21,484 0
OEMS&Y AtR2t2/ 4l 21,484
202 044 7,560 8,400 A 840
01 2L bl 7,560 8,400 A 840
HE2Y 2 7,560
203 ¥ 2 =&XH| 3,000 3,000 0
04 FEASHEYIFFEH| 3,000 3,000 0
© 152! 0ol ot 250,000 12 3,000
eSS (Z22992W)(BH/EH92) 413,000 423,500 A 10,500
WEAHAH XK= 413,000 423,500 A 10,500
AT UERAHA H (XGIHLI2) 413,000 423,500 A 10,500
705 Ol=2 22| 24aE 413,000 423,500 A 10,500
03 Al - EXYIHED S22 4 350,000 350,000 0
OUATE SLUYH A () 350,000
04 Al - SXHINED |20 =20 AHaHE 63,000 73,500 A 10,500
OURATE LEAHA AHE (0IA) 63,000




